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LOISX B (ARISR/ el - EAH) 119,377,472 126,110,262 26,732,790
= 80,317,574 86,057,114 25,739,540
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23 6,0002%32,493H 194,958 201,000 26,042
04 DIZFHATAIZ 2 47,100 43,600 21,500
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AE 5,002,347,0002 5,002,347 5,160,610 158,263
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05 2IR”tRIE = 7,880,000 10,625,463 22,745,463
Ol XS0 (HHH)

Z3d 7,880,000,000& 7,880,000 10,625,463 12,745,463
= 5,516,000 7,437,824 n1,921,824
< 709,200 956,292 N247,092
Al 1,654,800 2,231,347 N576,547

(F)sEX IR0 150,679 80,987 69,692

= 105,475 56,691 48,784

< 13,561 7,289 6,272

Al 31,643 17,007 14,636

307 2IZto1 150,679 80,987 69,692

= 105,475 56,691 48,784

< 13,561 7,289 6,272

Al 31,643 17,007 14,636

05 2IZtRAES 150,679 80,987 69,692
OZHR! &S2X IS0 (HIRH)

3& 150,679,000 150,679 80,987 69,692

= 105,475 56,691 48,784

< 13,561 7,289 6,272

Al 31,643 17,007 14,636

(RNLETHEMBIAHIRH XA 436,616 379,472 57,144

= 305,631 265,631 40,000
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3E 1,197,924,0002 1,197,924 1,576,424 378,500
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< 8,274 10,474 A2,200
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Al 1,367 1,677 A310
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